@) HATSUTA JS—Y1 R

TD-1200

2020%F8H
Ver.1-2



TD-1200



A 2o AR P.1~4
B &R P.5~6
C ‘HERR P.7~10
D T R P11~14
EarAR7—E& P.15~18
F Ry \—Eaf&R P.19~22
G FEBhRS % P.23~28
H 74 v—E& P.29~32
| RA)VEARR P.33~36
J BE#REA 1R P.37~38

X BRIXORELTREES -BRHI—F-BR4-BE-HEESEHR L TIEIXMOET,
X BAUBRFITIYFECMARERICBIEENTEVNET, FHITERIESLY,

TD-1200



@D HATSUTA

TD-1200 A Z02ER

1 2020.08



@ HATSUTA

TD-1200
RHEES a—F e HE R &%
A- 1 K31580200 UKL 1
A-2 K09083240 URJL+ M8-32A 1
A-2A K09080100 M8 Fwk 2
A- 2B K09080300 M8 AT T Iy d— 2
A- 2C K09080201 M8 KJwirv— 2 8%x22x23
A-3 K31550910 BYT—V BE——-5 1
A-4 K21807001 EERETH/ N\ — 1
A-5 K21807400 NURIRANT LIRS Z 1
A- 5A K09061000 M6 x 10 A JLF 2
A- 5B K09060300 M6 RFY T Iy — 2
A- 5C K09060200 M6 Ty r— 2
A-6 K21807301 NURIILRART LR 1
A-7
A-8 K31515103A NURIRRANE 1
A- 8A K09061200 M6 x 12 A JLF 6
A- 8B K09060300 M8 RFY T Iy — 6
A- 8C K09060200 M6 Ty v — 6
A-9
A-10 K31515801G BU<—o =ZAFRE 1
A-11 K22207800C NURIJLRRR 1 % TD1218016~
A- 11A|  K09082500 M8 x 25 Lk 4
A- 11B| K09080300 M8 AT T Iyrd— 8
A- 11C| K09080201 M8 KT r— 4 8x22x23
A- 11D| K09080100 M8 Fwk 4
A- 11E| K09080200 M8 Ty — 4
A- 11F
A-12 K40560800A By 1 PET-304 % TD1219016~
A- 13 K21806600A ElEREtIEHEE 1
A- 13A| K09040100 M4 Fwk 2
A- 13B| K09040200 M4 Dy x— 2
A- 14 K20251500 GYR=yFIL 1/8A & 1
A- 15 K31508100 BUTET—LI¥ITREORILE 1
A- 15A| K09100300 M10 RFY2 T Ty — 1
A- 16 K20603010 AR A —O|ESA Ty v— 1
A-17 KOB3512DU Jw 1 K5B3512 2
A- 18 K22210000 =TT —0—b () 1
A- 19 K22250000 HABSRTIL— 1
A- 20 K22209900 =TT —D—k (R) 1
A- 21 K02507000 RASRMRT)Y 51107 1
A-22 | K31501308C B I4+—72 (A) 1
A- 23 K03030400 Eo2Ov4 UCFL204 2
A- 23A| K09102000 M10 % 20 )Lk 2
A- 23B| K09100300 M10 RFY T Ty — 6
A-23C| K09100203 M10 KT wiv— 2 10x30% 3
A-23D| K09100200 M10 Ty v— 4
A- 23E| K09100104 M10 &F vk 4
A- 24 | KO9SEO0491R A40OyrIUK SE-0491R 1
A- 25 K09140240 M4 BE Ty vy— 2
A- 26 K31508503 FSwd)oy 1
A- 26A| K09140111 M14 Fwk P15 (&) 1
A- 26B| K09140110 M14 Fwk P15 (&) 1
A- 27 K31585001 RATTVITETHRYIR 1 A-28EE
A- 27A| K09104000 M10 x 40 )L+ 2
A- 27B| K09100200 M10 Ty v— 4
A-27C| K09100300 M10 RFY T Ty — 4
2 2020.08




@D HATSUTA

TD-1200 A Z02ER

3 2020.08



@D HATSUTA

TD-1200
RHUES a—F o HE R &%

A-27D| K09100100 M10 7k 2

A- 27E| K09200300 M20 RFY T Ty — 1

A- 27F | K09200117 M20 3f&F vk P=15 1

A- 28 K31585020 Evbvo7—LA 1 HDST02-0100600
A-29 | KO9SE0491L AL4OyrIUR SE-0491L 1

A- 30 K31501200 JavkIr—o7L—k 2

A- 30A| K09100100 M10 7k 2

A-30B| K09100300 M10 RFY T Ty v— 2

A-30C| K09100200 M10 Ty v— 2

A- 31 K31501404 AR 7+—7% (B) 1

A- 32 K31527800 =] S ] SIN 2 1mm
A- 33 K31501109 AV A TRRR—H (5}) 2 18mm
A- 34 K03040700 E¥oJows UCFC207 6

A- 34A| K09124000 M12 x 40 )Lk 24

A- 34B| K09120300 M12 RFY T Ty — 24

A- 35 K31501507 TAVEAY () 2

A- 36 K31501110 TAVR A TRRR—H () 2 15mm
A- 37 K31527820 =] S ] SIFN 2 2mm
A- 38 K31501508 TAVREAY () 1

A- 39 K31501006 TAVE YT ¢35 1

A- 39A| K09160110 M16 Fwk P=15 2

A- 39B| K09160300 M16 RFY T Ty v— 2

A-39C| K09160200 M16 Ty v— 2

A- 40 K09127000 M12 % 70 )Lk~ 2

A- 40A| K09120100 M12 7k 2

A- 40B| K09120300 M12 RFYT Ty o— 2

A- 40C| K09120200 M12 Dy v— 2

A- 41 K21809200 NURILZITEER 1

A- 41A| K09081600 M8 x 16 L+ 2

A- 41B| K09080300 M8 RFY T Iy — 2

A- 41C| K09080200 M8 Ty — 2

A- 42 K22281000 BEY<—% (SAND SPREDER) 1

2020.08




@D HATSUTA

TD-1200 B & #EA &

5 2020.08



@) HATSUTA

TD-1200
RHEES a—F e HE & &%

B- 1 K22200205 — 1 % TD1219001~
B- 2 K31551501 BEWASYVIRA—ILTE 2 20-12.00-10
B- 3 K31500403 #EARA—IL ABEYL 2

B- 3A K09102000 M10 X 20 7R)Lk 16

B- 3B K09100200 M10 RFY T Ty — 16

B- 3C K09100100 M10 7k 16

B- 4 K31551701 FWAIANVFa—7 2

B-5 K31551801 BRIV 2 20-12.00-10
B-6 K22208500 RSLTL—b 2

B- 6A K09061200 M6 x 12 A JLF 8

B- 6B K09060300 M6 RFY T Iy — 8

B-7 K22206902 EITE—R2—T—/\—8Fvb 2 HEZ TD1214001~
B- 7A K09051541 M5 x 15 REIATRILE 2

B- 7B K09050300 M5 ZFY T Iy xr— 2

B- 8 K22270000 RSLTL—F Assy 2

B-9 K22250100 EFITE—4 2

B- 9A KU1220041 1/2 X UNF 2 REIFARILE 8

B- 9B K22250120 FTE—2—F— 2

B- 10 K22270100 TL—FFRSL4 2

B- 10A| K09123500A M12 x 35 7R)Lk P=15 12

B- 10B| K09120300 M12 RFY T T 12

B- 10C| K09120110 M12 Fwk P=15 12

B- 11 K22200601 TL—FAssy 2

B- 12 K22270300 Foh—EY 2

B- 13 K22270400 a—RFYLY 4

B- 14 K22270500 IJL—F>a— 4

B- 15 | K22270600A H L 2

B- 15A| K09140100 M14 Fvk 2

B- 15B| K09140300 M14 RFY T Ty o— 2

B- 15C| K08502500 AFvF)Y s-25 2

B- 16 K22270700 Ny TL—k 2

B- 17 K22270800 L/N— 4

B- 17A| K09081600 M8 x 16 A JL+ 2

B- 17B| K09080300 M8 RFY T Iyd— 2

B- 17C| K09080100 M8 Fwk 2

B- 18 K22270900 (= 2

B- 18A| K08700100 EY>% E-10 4

B- 19 K22201302 E—H—H5E 1

B- 19A| K09102500 M10 X 25 7R)L 2

B- 19B| K09100300 M10 RFY2 T Ty r— 2

B- 19C| K09100200 M10 Ty v— 2

2020.08




@) HATSUTA

TD-1200 C HEBER®

11 Py

2 -i"\\§‘

o 7"“’%‘,)'

2% 4 a2
SCPN

g

ﬁa

3711

B A
X

A
)N,
)}

=)

J)))

O

Y Al
0 “@ B
N

3)
)

/ 2020.08



@ HATSUTA

TD-1200
RHEES a—K e HeE & &%
c- 1 K084C9040 0l)> % AS568-904 2
C-2 K07A404344 w2 PT06 UNFO06 2
c-3 K07112203 THTS— PT1/4 X PF3/8 20# 1
C-4 KH11203400 SHER—X F-15-09-340L 1
Cc-5 K084C9100 0')>% AS568-910 4
C-6 K07A404308 Jwia PT13 UNFO16 4
Cc-7 K07040100 THETR— 12-16# 4
c-8 KH17305700 SHEAR—R NSL210-12-570L 1
c-9 KH17304600 SHEAR—R NSL210-12-460L 1
C- 10 | KH11207300 SHEAR—X F-15-09-730L 1
c- 11 K07112201 FHT8— PT1/4xPF3/8 16# 1
C- 12 | KH17305900 SMEAR—R NSL210-12-590L 1
c- 13 K05900500 3/4 735 (A) 1
C- 14 K31554900 FANT— 1 K1-80
C- 15 | K22203501C BIEAAILEY 1
C- 15A| K09102000 M10 X 20 7R)Lk 4
C- 15B| K09100300 M10 RFYU T Ty — 4
C- 15C| K09100200 M10 T v— 4
C- 16 KM803042A PLY—% EE 1
c-17 K05810600 1"=Zv7IL (B) 1
Cc- 18 K05870611 1"V4ryk (8) 1 T4+
Cc- 19 K30656400 FTAINFvyT 1 KRM-A4
C- 20 K05840400 1/2 F—X (H) 1
c- 21 K07132201 FHTB— PT1/2 X PF3/8 16# 1
C- 22 K07132203 FHTHB— PT1/2 x PF3/8 20# 1
Cc- 23 K05820500 3/4 T)LAR(A) 1
C- 24 K07142301 T THR— PT3/4xPF1/2 164 1
C- 25 | KH11404200 SHER—R F-15-19-420L 1
C- 26 K07050300 THETR— 19-20# 1
C- 27 K31520001 AL—FBfTID 1
C- 27A| K09082000 M8 x 20 A JLF 6
C- 27B| K09080300 M8 AT T Iy — 6
C- 27C| K09080200 M8 Ty r— 6
C- 28 K08208000 o4 G-80 1
C- 29 K05920515 3/4 £=v7JL 150L 1
C- 30 K31566100 FAILAL—F 1 SFT-06
c- 31 KH11303300 SMEAR—R F-15-12-330L 1
C- 32 | KH17306900 SHEAR—R NSL210-12-690L 1
C- 33 K07040300 THETR— 12-204 4
C- 34 K09062040 M6 X 20A URJLk 4
C- 34A| K09060100 M6 Fubk 8
C- 34B| K09060300 M6 RFY T Iy — 8
C- 34C| K09060200 M6 Ty r— 8
C- 35 K22206300 HESAT A 1
C- 36 K22206400 HE/SRMT B 1
C- 37 | KH17303300 SHEAR—R NSL210-12-330L 1
C- 38 | KH17306800 SHEAR—R NSL210-12-680L 1
C- 39 K31513401 IVOURLYISAMT 1
C- 40 K05820300 3/8 T/LAKR (B) 1
C- 41 K06100300 3/8 BERABET—/IN—TFJ 1
C- 42 K04062901 F—1/4%1/4%29 KL 1
C- 43 K22202100 IR INAT— 1
C- 44 K21809700B IR TEAY T Assy 1 C-44A~44CETE
C- 44A| K09061841 M6 x 18 REFYTARILL 11T 1
C- 44B| K31502719 b AVAVIZ S A 2 k= WNLG ) 1

2020.08




@) HATSUTA

TD-1200 C HEBER®

11 Py

2 -i"\\§‘

o 7"“’%‘,)'

2% 4 a2
SCPN

g

ﬁa

3711

B A
X

A
)N,
)}

=)

J)))

O

Y Al
0 “@ B
N

3)
)

o 2020.08



@ HATSUTA

TD-1200
RHEES a—K e HE & &%
C- 44C| K09081290 M8 x 12 skOtwh 2
C- 45 K22200100 SHERTERfG 7 —R 1
C- 45A( K14708720 SHER T —REfTRILE 4 3/8-16UNC 1 1/4
C- 45B| K09100300 M10 RFY2 T Ty — 4
C- 45C| K09100200 M10 Tl v— 4
C- 46 K22250200 SHEERM R T 1 PV16AR-A45B
C- 46A| K09144000 M14 x 40 )Lk 2
C- 46B| K09140300 M14 RFY T Ty o— 2
C- 46C| K09140200 M14 Dy p— 2
C- 47 K084C9100 0% AS568-910 2
C- 48 | KO07A404308 PT13 UNFO16 Jwa 2
C- 49 K06010400 172 @E=v7IL 1
C- 50 K06020400 172 8ETILR 1
C- 51 K07040400 THETR— 12-224 1
C- 52 K07040300 THETR— 12-20# 1
C- 53 K084C9080 0')> % AS568-908 2
C- 54 | KO07A404388 PT13 UNFO13 Jwa 2
C- 55 K07040300 THETR— 12-20# 2
C- 56 K07132401 FHTH— PT1/2xPF3/4 164 1
C-57 | KO7A112412 PT13 PFO13 Jwa 1
C- 58 K08101800 o4 pP-18 1
C- 59 K22250301 SHEFTRLT 1 JP20 4.8cc % TD1216001 ~
C- 59A| K09104043A M10 X 40 /NEUFR )Lk P=1.25 2
C- 59B| K09100300 M10 RFY2 T Ty — 2
C- 59C| K09100200 M10 T v— 2
C- 60 K08208500 o4 G-85 1
C- 61 K08101800 o4 p-18 1
C- 62 | KO7A112412 PT13 PFO13 Jwia 1
C- 63 K05810400 172 Zv7 )L (A) 1
C- 64 K05820400 1/2 LR (B) 1
C- 65 K07040300 THETR— 12-20# 1
C- 66 | KH11304000 SHEAR—X F-15-12-400L 1
C- 67 | KH11306600 SHEAR—X F-15-12-660L 1
C- 68 K07142303 FHETH— PT3/4 % PF1/2 204 2
C- 69 K30450400 SHEA A ILT1ILE—Assy 1 C-710&8%
C- 69A| K09102000 M10 X 20 7R)Lk 2
C- 69B| K09100300 M10 R T Ty — 2
C- 69C| K09100200 M10 T v— 2
c- 70 K30450401 AEVTANE—H—R D 1
c- 7 K22209400 R THHR—k 2
C- 71A| K09081600 M8 x 16 7RJL I 4
C- 71B| K09080300 M8 RFY T Iyrd— 6
C- 71C|  K09080200 M8 Ty — 6
C- 71D| K09082000 M8 x 20 ALk 2
C- 72 KM801010A PLY—% fEl& 1

10

2020.08




@) HATSUTA

TD-1200

2020.08

11



@) HATSUTA

TD-1200
RHEES a—kK e HE & &%
D- 1 K14754090A FERES —FAssy 1
D- 1A K09080100 M8 Fubk 4
D- 1B K09080300 M8 R T Iy e— 4
D- 1D K22220100 o—rh5— 4
D- 2 K32604700E EEA 1 % TD1219016~
D- 3 K31519100 EFEEIEHRILE 2
D- 3A K09100103 M10 UFwhk 2
D- 3B K09100200 M10 Dy v— 2
D- 4
D- 4A
D- 4B
D- 4C
D-5 K10861100 HIV B INVR 2
D- 5A
D- 5B K09080300 M8 RFY T Iy — 4
D- 5C K09080100 M8 Fubk 8
D- 5D K09080200 M8 Ty — 8
D- 6
D-7 K31557700 BUHINVURTTILE 2
D- 8 K21810303A TIS—EEIR (F) 1
D- 8A K09061200 M6 x 12 7KLk 4
D- 8B K09060200 M6 Ty — 4
D-9 K21810002 75— 1
D- 9A K09080130 M8 752 F vk 4
D- 10 K21810201 < I7T5—EER (F) 1
D- 10A| K09061200 M6 x 12 7RJLk 2
D- 10B| K09060200 M6 Ty r— 2
D- 11 K21813600 IVOURfMEE 2
D- 11A| K09105500 M10 X 55 7R )Lk 4
D- 11B| K09100300 M10 RFYLTIv v— 4
D- 11C| K09100200 M10 Ty v— 4
D- 12 E0005CH670 s AV 1 KOHLER CH-670S 22HP
D- 13 N32024000 JAx—/\UR 2 ®56
D- 14 K22250500 IF7O)—FFOrR—R 1 50 x 460L
D- 15 ET2504817S IT79')—7F Assy 1 D-485FY
D- 15A| K09082000 M8 x 20 7RJLk 2
D- 15B| K09080300 M8 R T Iy v— 2
D- 15C| K09080200 M8 Ty — 2
D- 16 | ET2508301S IF7I4INEA— TR — 1
D- 17 K22204902 FEERTDNA— 1
D- 17A| K09061200 M6 x 12 7RJLk 7
D- 17B| K09060300 M6 RFY T Iy e— 7
D- 17C| K09060200 M6 Ty — 7
D- 18 KM801001A PLY— Z& 1
D- 19 KM801011A PLY—% fEI% 1
D- 20 KM801008A PLY— & 1
D- 21 KM802027A PLY—% fEI% 1
D- 22 K31557000 INYTY)—TL— LRIy b 1
D- 23 K14770000 INYT)— 1 70B24R
D- 24 K31556300 INYT—ET LA 1
D- 25 | ET2523714S R—RNAUR 2
D- 26 | ET2435302S Jai—I)Lk—R 1
D- 27 | ET2405013S TJaTINITAINE— 1
D- 28 N32002000 d12 DA —I\UF 2
D-29 | K22207201B PE R AT # R AR 1
12 2020.08




@) HATSUTA

TD-1200

2020.08

13



@D HATSUTA

TD-1200
RHEES a—F e HE R &%
D- 29A| K09061200 M6 x 12 R JL+ 3
D- 29B| K09060300 M6 RFY T Iy — 3
D- 29C| K09060200 M6 Ty r— 3
D- 30 KRB054020 LR 1 5% 30 X 250
D- 31 KRB054000 I LR 5%40%M 1 5 X 40 X 280
D- 32 K31557500A SRS E S S 1
D- 33 K31557600 BUHYRAR—F 1
D- 34 K31557400 2y SR M2 1
D- 35 N32000900 9mm T A —/\UK 2
D- 36 K31558000 TaI T —TR—R 1 $6% P9
D- 37 K31558200 Ja1I)LavY Assy 1
D- 38
D- 39 K97061215 PREIR—R 1 $6x $12x1.5M
D- 40 KM802033A PLY—% Z4& 1
D- 41 KM801012A PLY—7 fElR 1
D- 42 KM801005A PLY—% & 1
D- 43 K22211900 RIT—ERNAT 1 HEZ TD1214006~
D- 43A| K09061500 M6 x 15 7 JL b 2
D- 43B| K09060300 M6 RFY T Iy x— 2
D- 43C| K09060201 M6 KT r— 2 6Xx 16X 1
D- 44 K22281100 BEY<—% (VALK LA-35) 1
D- 45 KM801014A PLY—% FE 1
D- 46 KM801016A PLY—% & 1
D- 47 KM801013A PLY—7 fElR 1
D- 48 | ET2532402S I7H)—F—7—F 1
D- 49 | ET2508304S IFIANE— A F— 1
D- 50 ET2446207S NIVITERRIOTHE— 1

14

2020.08




@D HATSUTA

TD-1200

15 2020.08



@D HATSUTA

TD-1200
RHEES a—k e HeE & &%
E- 1 K03120500 E¥oJows UCUP205 2
E-2 K21802400R TSV E (R) 1
" K21802400L TSVmftE () 1

E- 2A K09102000 M10 X 20 R)Lk 8

E- 2B K09100300 M10 RFYL T Iw v— 8

E- 2C K09100200 M10 T v— 8

E- 2D

E- 3 K21801401 n—iLIsYy 1

E- 3A K09080890 M8 x 8 RA+ vk 4

E- 4 K21801501 T5L9v Tk 1

E- 4A K04013001 F—5x5x30 K 1

E-5 K22204100 735227045 vk 1 40#-15T

E- 5A K09080890 M8 x 8 RA+ vk 2

E- 6 K22201100A aAVURT7—AJLk 1

E-7 K22201001E aRF7—a—5— (EEEH{AD) 1 K42 TD1219011~

E- 7A K04023001 F—7x7x30 Fh 1

E-8 K22212400 aRT7A—5—I% T N5 — 4 & TD1219011~

E-9 K03010500 En7Avs UCP205 4

E- 9A K09123500 M12 x 35 RJLk 4

E- 9B K09120300 M12 YD GT I v— 4

E- 9C K09120200 M12 Dy v— 4

E- 10 | K22203401A aAUARF7—RTO45 vk 1 504-20T

E- 10A| K09080890 M8 x 8 RA+ vk 2

E- 11 K21608300 PN 0~3 1mm

E- 12 K22252000 FI— 40#Xx71L 1

E- 13 K22204201 ISVRFI—rToiavEl 1

E- 13A| K09102000 M10 X 20 R)Lk 2

E- 13B| K09100300 M10 RFYL T Iw v— 3

E- 13C| K09100202 M10 Dy — 4 10x25%23

E- 13D| K09100100 M10 Fwk 2

E- 13E| K08502000 AFyF)4 S-20 1

E- 14 K22206600 Fr—rTolavEhs— 2 30 % 20.1 X 3t

E- 15 K02104500 AR71)2% 6004LLB 4

E- 16 K22204000 FERTOs vk (EEITSTR) 1 40# 21T x 16T
K22204291 FERT Oy (EET 5 M) EftAssy 1 E-13,13E,14,15,16

E- 17 K22205200E aVRT7—TR 1

E- 17A| K09102000 M10 X 20 )Lk 6

E- 17B| K09100300 M10 RFYL T I v— 7

E- 17C| K09100200 M10 Ty v— 7

E- 17D| K09100100 M10 Fwk 1

E- 17E| K09106000 M10 X 60 )Lk 1

E- 18 K22002000 BWhET Lk 2

E- 19 K22002100 WhEDLIRBSZ 2

E- 19A

E- 19B

E- 19C

E- 19D

E- 20 K22207700A AVRT7—RAF—2Toia 1

E- 20A| K09102500 M10 X 25 7Lk 2

E- 20B| K09100300 M10 RFYLTIv v— 2

E- 20C| K09100202 M10 X v— 2 10X 25%2.3

E- 20D| K08502000 AFyF) 4 S-20 1

E- 21 K22207600 FRATasyk @QURT7—H) 1 50# 20T X 15T
K22207790A hERTO45 vk (QURT7—H) 8iftAssy 1 E-14,15,20,20D,21

E- 22 K22252100 FI—> 50# X 54L 1

16

2020.08




@D HATSUTA

TD-1200

17 2020.08



@D HATSUTA

TD-1200
RHEES a—F e HE R &%
E- 23 K22204400 aRT—5|ER 2
E- 23A| K09124500 M12 x 45 )L+ 4
E- 23B| K09120300 M12 RFY T Ty — 4
E- 23C| K09120200 M12 Dy v— 8
E- 23D| K09120100 M12 7k 4
E- 23E| K09100300 M10 Ty v— 4
E- 23F| K09100100 M10 7wk 4
E- 23G| K09100300 M10 RFY2 T Ty r— 2
E- 24 | K22205800E aAVRT—O—5— (HEENEI) 1 & TD1219011~
E- 25 KM801002A PLY—% fal& 1
E- 26 K22205500B AURFF—2Hh\— (k) 1
E- 26A| K09081600 M8 x 16 A JLF 3
E- 26B| K09080300 M8 AT T Iy d— 3
E- 26C| K09080200 M8 Ty — 3
E- 27 K02103500 AR71)>% 6003LLB 2
E- 28 K22209100 aAVURT—FiavRTATYE 1 504-13T
K22202290A AVRT—FoiarvRFas vk ffAssy 1 E-27,28,28A,29,29D
E- 28A| K08603500 RAFvF)4 R-35 1
E- 29 | K22202200D aAVRT—FiavRTArvhE 1 & TD1220011~
E- 29A| K09102000 M10 % 20 )Lk 2
E- 29B| K09100300 M10 RFY2 T Ty — 2
E- 29C| K09100202 M10 KT wiv— 2 10x25% 2.3
E- 29D| K08501700 AFvFYY s-117 1
E- 30 | K22204300F Ry S—ER {2 1 & TD1218016~
E- 30A| K09102000 M10 % 20 )Lk 12
E- 30B| K09100300 M10 R T Ty r— 12
E- 30C| K09100200 M10 Ty v— 12
E- 31 K22205600A AVRFF—rHhA— (R) 1
E- 31A| K09081600 M8 x 16 A JLF 3
E- 31B| K09080300 M8 AT T Iy— 3
E- 31C| K09080200 M8 Ty — 3
E- 32 KM801002A PLY—% fal& 1
E- 33 K22212200 BWHhEDT LR 1 % TD1218016~
E- 33A| K09083000 M8 x 30 ALk 6
E- 33B| K09080200 M8 Ty — 12
E- 33C| K09080300 M8 RFY T Iy d— 6
E- 33D| K09080100 M8 Fwk 6
E- 33E| K09102500 M10 X 25 7R)L 2
E- 33F [ K09100300 M10 RFY2 T Ty r— 2
E- 33G| K09100200 M10 Ty v— 2
E- 34 KM802031A PLY—% & 2

18

2020.08




@D HATSUTA

TD-1200 F Ry \—BafR

19 2020.08



@D HATSUTA

TD-1200

RHEES a—k e HeE & &%
F- 1 K22207900B yi— 1
F- 1A K04013001 F—5x5x30 K 2
F-2 K22208100 Sy B—N VRS R 1
F- 2A K09080100 M8 Fubk 7
F- 2B K09080300 M8 RFY T Iy — 7
F- 2C K09080200 M8 Ty r— 7
F-3 K22208000 ya—A Lk 1
F- 4 KM802021A PLY—% fEI% 1
F-5 K22205300A IS5 H8— 1
F- 5A K09081200 M8 x 12 7KLk 7
F- 5B K09080300 M8 RFY T Iy d— 7
F- 5C K09080200 M8 Ty — 7
F- 6 KO9PHS12R 240YRIUKR PHS-12R 2
F- 6A K09123500 M12 x 35 RJLk 2
F- 6B K09120300 M12 RFYLT I v— 2
F- 6C K09120200 M12 Dy v— 2
F- 6D
F-7 K22201600 ey A—EEOvk 2 215mm
F- 7A K09120100 M12 vk 2
F- 7B K09120101 M12 Fyb () 2
F- 8 KO9PHS12L 240YRIUR PHS-12L 2
F- 8A K09124500 M12 x 45 R)Lk 2
F- 8B K09120300 M12 YT D9 v— 2
F- 8C K09120200 M12 Dy v— 4
F- 8D K09120100 M12 Fwk 2
F-9 K22203601AR v a—RET—L (R) 1
" K22203601AL v a—RET7—L (K) 1
F- 9A K09105000 M12 X 50 )Lk 2
F- 9B
F- 9C
F- 9D K09120100 M12 Fwk 2
F- 9E K09080890 M8 x 8 RA+ vk 4
F- 10 K03120400 EnJowvs UCUP204 2
F- 10A| K09102000 M10 X 20 )Lk 4
F- 10B| K09100300 M10 RFYLT I v— 4
F- 10C| K09100200 M10 Ty v— 4
F- 11 K22201400 Sy A—hf 7 —L (B) 1
F- 11A| K09080890 M8 x 8 RA+ vk 1
F- 12 | K22208300A 2y A—RFL v I 1
F- 12A| K04012501 F—5x5x25 Fh 2
F- 12B| KO09061500 M6 x 15 7R JLk 2
F- 12C| K09060300 M6 R TG Iy d— 2
F-12D| K09060207 M6 KT v— 2 6Xx40x32
F- 12E| KOB2020DUT w2 K5F2020 2
F- 13 | K22205000B Ry s—iET L 2
F- 14 K22205100 Ry —ET LIRIESZ A 2
F- 14A| K09082500 M8 x 25 7R )Lk 6
F- 14B| K09080300 M8 RFY T Iy d— 6
F- 14C
F- 15 K21804200 Ry R—HET LIRIESZ B 2
F- 15A| K09082500 M8 x 25 7R )Lk 2
F- 15B| K09080300 M8 RFY T Iy dr—
F- 15C
F- 16 K22210300B Ry/A—RIT LIRIESZ H4Z& TD1216006~
F- 16A| K09060100 M6 Fubk

20

2020.08




@D HATSUTA

TD-1200 F Ry \—BafR

21 2020.08



@D HATSUTA

TD-1200
RHEES a—F e HE & &%
F- 16B| K09060300 M6 RFY T Iy xr— 7
F- 16C| K09060200 M6 Ty — 7
F- 17 | K22210200B Ry s—gia L 1
F- 18 | K22200900E Ryss— 1 & TD1220001 ~
F- 18A| K09102000 M10 X 20 7R)Lk 6
F- 18B| K09100300 M10 RFY2 T Ty — 6
F- 18C| K09100200 M10 Ty v— 6
F- 19 K22201500 Sy A—mhff 7 —L () 1
F- 19A| K09080890 M8 x 8 RA+t vk 1
F- 20 K21310500 Sy B—E/N\VRILEER 1
F- 20A| K09061500 M6 x 15 7 JL b 2
F- 20B| K09060300 M6 RFY T Iy r— 2
F- 20C| K09060200 M6 Ty — 4
F- 20D| K09060100 M6 Fwk 2
F- 21 KO9PHS12R A4OyRFIR PHS-12R 1
F- 21A| K09124500 M12 X 45 7R)L 1
F- 21B| K09120300 M12 R T Ty o— 1
F- 21C| K09120200 M12 Dy v— 2
F- 21D| K09120100 M12 7k 1
F- 22 K21302100A eyA—REAOVE A 1 HEZ TD1214006~
F- 22A| K09120100 M12 Sy 2
F- 23 K21352500 BEEYS—IL 1
F- 24 K22004100 NURILERESRR 1
F- 25 K22004000 NURLERENER /N — 1
F- 25A| K09080890 M8 x 8 RA+twk 2
F- 26 K22004200A INURLVER BB 1 HEZ& TD1219001~
F- 26A[ K04012001 F—5x5x20 KL 1
F- 27 K03010400 Enznvy UCP204 1
F- 27A| K09104000 M10 X 40 7R)Lk 2
F- 27B| K09100300 M10 R T Ty o— 2
F- 27C| K09100200 M10 Ty v— 4
F- 27D| K09100100 M10 7k 2
F- 28 K22003900 ey —RRANURIL 1
F- 28A| K09080890 M8 x 8 RA+t vk 1
F- 28B| K09061500 M6 x 15 A JL b 1
F- 28C| K09060300 M6 RFY T Iy — 1
F- 28D| K09060207 M6 KT wsr— 1 6X 40 3.2
F- 29 K22050500 NURILEY 1 NR-25
F- 29A| K09100100 M10 7k 1
F- 29B| K09100300 M10 RFY2 T Ty r— 1
F- 30 K22210700 Ry —{HEH TR 2
F- 30A| K09080100 M8 Fwk 4
F- 30B| K09080300 M8 AT T Iy d— 4
F- 30C| K09080200 M8 Ty r— 4
F- 31 K22210600L Ry A —1H5E () 1
F- 32 K22210600R Ry —1H5E (B) 1
F- 33 K09082540 U7RJL bk 8-25A 2
F- 33A| K09080100 M8 Fwk 4
F- 33B| K09080300 M8 AT T Iy d— 4
F- 33C| K09080200 M8 Ty — 4
F- 34 K22281200 BEY<—2 (i < — BH) 1
F- 35 K22281300 fkY~—7% (TD-1200) 2

22

2020.08




@D HATSUTA

TD-1200 G BXEHRE %

23 2020.08



@D HATSUTA

TD-1200
RHEES a—kK e HE R &%
G- 1 K22252200 FI—> 40# X 104L 1
G- 2 K22203900A TSV ATy IR Ty vk 1 404 21T
G- 2A K09080890 M8 x 8 kAt 2
G-3 K03010500 En7RAvyy UCP205 2
G- 3A K09124000 M12 X 40 )Lk 4
G- 3B K09120300 M12 RFY T Ty o— 4
G- 3C K09120200 M12 Dy p— 8
G- 3D K09120100 M12 Fwk 4
G- 4 K22203800A TS5 ARG 1 H& TD1214006~
G- 4 K22203800B TS5 ARG 1 HZ TD1220006~
G- 4A K04023501 F—7x7x35 KA 1
G- 4B K04022001 F—T7xTx20 KA 1
G- 4C K09086000 M8 x 60 7R JLk 1 2 TD1220006~
G- 4D K09080300 M8 RFY T Iy d— 1 HZ& TD1220006~
G- 4E K09080200 M8 Ty p— 1 & TD1220006~
G-5 K22203700 BERE=A> B 1
G- 5A K09080890 M8 x 8 kAt 2
G- 6 K22252300 FI— 40# X 68L 1
G-7 K22203000 HEXY B 1
G- 7A K09082000 M8 x 20 7RJLk 1
G- 7B K09080300 M8 R T Iy v— 1
G- 7C K09080203 M8 KJwivy— 1 8x30x32
G- 8 K22203100 BEBM Y IbhS—B 1 35X 25.1 X 9.5t
G-9 K03010500 En7Avy UCP205 2
G- 9A K09124000 M12 X 40 7KLk 4
G- 9B K09120300 M12 YL G I v— 4
G- 9C K09120200 M12 Dy v— 8
G- 9D K09120100 M12 Fwk 4
G- 10 | K22203200A BERPE YT 1 HZ& TD1214006~
G- 10A| K04022501 F—7x7Tx25 KR 1
G- 10B| K04023501 F—7x7x35 FHL 1
G- 11 K22203301 BEBRS YRR TR vk 1 504-16T
G- 11A|  K09080890 M8 x 8 kAt 2
G- 12 K22252400 FI—> 50# X 86L 1
G- 13 K22207500B ARRT¥INT—1)— 1 H& TD1216011~
G- 13A| K09080890 M8 x 8 kAt 2
G- 13B| K04063801 F— 1/4x1/4%38 KL 1
G- 14 K01073500 VAL SA-35 2
G- 15 K08501700 AFyFIy s-17 1
G- 16 K02203500 R71)24 6203LL 2
G- 17 K30606600 TiavF—1) B-2 1
G- 18 K22206801 ToiavT—1E 1
K22206891 FoarT—EfE Assy 1 G-15~G-18
G- 18A| K09120100 M12 Fwk 1
G- 18B| K09120300 M12 RFYDGT I v— 1
G- 18C| K09120200 M12 Dy v— 1
G- 19 K21811501 FoLavRIYLy 1 $22x119% ¢3
G- 19A( K09082500 M8 x 25 7R )Lk 1
G- 19B| K09080200 M8 Ty ar— 1
G- 19C| K09080100 M8 Fubk 1
G- 19D| K09080300 M8 R T Iy v— 1
G- 20 K22205701A NILhToavik 1
G- 20A| K09082000 M8 x 20 7RJLk 1
G- 20B| K09080300 M8 RFY T Iy v— 1
G- 20C| K09080203 M8 KJwiv— 1 8x30x32
24 2020.08




@D HATSUTA

TD-1200 G BXEHRE %

25 2020.08



@ HATSUTA

TD-1200
RHEES a—F e HE & &%
G- 21 K0B2515DU Jwi a1 K5B2515 2
G- 22 K22207400 ffE7— 1
G- 22A| K09080890 M8 x 8 7Rty 2
G- 23 K03010600 En>aws UCP206 2
G- 23A| K09124500 M12 X 45 7KLk~ 4
G- 23B| K09120300 M12 RV T Ty — 4
G- 23C| K09120200 M12 Dy v— 8
G- 23D| K09120100 M12 7k 4
G- 23E| K09103000 M10 % 30 )Lk 2
G- 23F| K09100100 M10 7wk 2
G- 23G| K09100300 M10 R T Ty — 2
G- 24 K22202301A FR v TR (R)LATUITY) 1 HEZ TD1214006~
G- 24A| K04025501 *— 7x7x55 FHL 1
G- 24B| K04012001 F—5x5x20 KL 1
G- 25 K22202400 BEE=AT A 1
G- 25A| K09081500 M8 x 15 R JL b 1
G- 25B| K09080300 M8 RFY T Iy d— 1
G- 25C| K09080200 M8 Ty — 1
G- 26 K02204500 R7)2% 6204LL 1
G- 27 K22202700 BIERFXY A 1
G- 28 K02020160 ——FILRTY 2 HK2016 1
G- 29 K22202500 BERXVY v ILhT— 1
G- 30 K08502000 AFvF)Y s-20 1
G- 31 K20251500 JYR=ZyFIL 1/8A E 1
G- 32 K22202600A FEXVYYIE 1
K22202690A FEXNV v Tk Assy 1 G-26~G-32
G- 32A| K09102000 M10 % 20 7R)L 2
G- 32B| K09100300 M10 R T Ty — 2
G- 32C| K09100200 M10 Ty v— 2
G- 33 K22202800 FoiarvRFabryk 1 40#-15T
G- 34 K02103500 AR71)>% 6003LL 2
G- 35 K08603500 AFvF)4 R-35 1
G- 36 K22202901 FoiavArayyrs 1
K22202990A FoiavAFaryks Assy 1 G-33~G-36
G- 36A| K09102000 M10 X 20 7R)Lk 2
G- 36B| K09100300 M10 R T Ty — 2
G- 36C| K09100200 M10 Ty v— 2
G- 36D| K09080100 M8 Fubk 2
G- 36E| K09080300 M8 AT T Iy — 1
G- 36F | K09080200 M8 Ty — 2
G- 36G| K08501700 2FvF)Y s-117 1
G- 37 K22205400A BERFT—HhN— 1
G- 37A| K09081500 M8 x 15 R JLk 3
G- 37B| K09080300 M8 RFY T Iyd— 3
G- 37C| K09080200 M8 Ty — 3
G- 38 KG020A000 gaityk 1 SG-20A
G- 39 K08603500 ZAFv T4 R-35 1
G- 40 K02103500 R71)>% 6003LL 2
G- 41 K22202800 ToiarRFTO b 1 40#-15T
G- 42 K22209300B ISV FoiavRFarybEs 1 HEZ TD1218016~
K22209390A TSI TFooa 0 RTar kS Assy 1 G-39~G-42, G-42G
G- 42A| K09102000 M10 % 20 7R)Lk 2
G- 42B| K09100300 M10 R T Ty — 2
G- 42C| K09100202 M10 KTviv— 2 10x25%2.3
G- 42D| K09080100 M8 Fubk 2

26

2020.08




@D HATSUTA

TD-1200 G BXEHRE %

27 2020.08



@D HATSUTA

TD-1200
RHUES a—F o HE R &%
G- 42E| K09080300 M8 AT T Iy — 1
G- 42F |  K09080200 M8 Ty — 2
G- 42G| K08501700 AFvFYY s-117 1
G- 43 | K22208201A ~NJLAEZA 1 % TD1214006~
G- 43A| K09081600 M8 x 16 7R JL+ 1
G- 43B| K09080300 M8 RFY T Iy — 1
G- 43C| K09080200 M8 Ty r— 1
G- 44 | K22209200A ~JLHEZB 1 & TD1214006~
G- 44A| K09081600 M8 x 16 7R JL+ 1
G- 44B| K09080300 M8 RFY T Iy d— 1
G- 44C| K09080200 M8 Ty — 1
G- 45 K31529800 R ARTYLTBIERILE 1
G- 45A| K09080100 M8 Fwk 2
G- 45B| K09080300 M8 RFN T Iy d— 1
G- 45C| K09080200 M8 Ty — 2
G- 46 KM801010A PLY—7 fElR 1
G- 47 KM802022A PLY—7 fElR 1

28

2020.08




@ HATSUTA

TD-1200 H o4 —Ri

o
m
@co
[C ]

D 1c'? ) sAL—1
@y\ 6 } L
[ =

\ . 218
¥, LeA o\l
8A ,
: N ))
D \g,a
-

2 2020.08



@D HATSUTA

TD-1200
RHEES a—k e HE & &%
H-1 K22313900A IN—FF TP A OYE 2
H- 1A K09080100 M8 Fubk 2
H- 1B K09080200 M8 Ty — 4
H- 1C K21353600 RE> 2
H-2 K22206100 IN—F G T O ARNFR 2
H-3 K22206000 IN—F T T xRSk 2
H- 4 K22204500A IN—F25LiR— 2
H- 4A K09080890 M8 x 8 RA+ vk 2
H-5 K22200401A N—=FFTL—FdhEI v Ik 1
H- 5A K04012501 F—5x5x25 Fh, 2
H- 5B K04012502 F— 5x5x25 i 2
H- 6 K22204800 IN—FDTFEYY 2
H- 6A K09080890 M8 x 8 RA+ vk 2
H-7 K22206201D N—F25TL—F74v— 1 HZ& TD1216006~
H- 7A K09060100 M6 Fubk 2
H- 7B K09060200 M6 Ty r— 1
H- 8 K31562000 HLEREY 1
H- 8A K21353600 RE> 1
H-9 K22210500A IurIL—FIA ¥ — 1 H4Z& TD1216006~
H- 9A
H- 9B
H- 9C K09083500 M8 x 35 7R Lk 1
H- 9D K09080100 M8 Fubk 2
H- 9E K09080200 M8 T — 2
H- 9F K09080300 M8 RFY T Iy d— 1
H- 10 K20241000 HARITL—FL/\— 1
H- 10A| K09082500 M8 x 25 7R )Lk 2
H- 10B| K09080200 M8 T — 2
H- 10C| K09080300 M8 R T Iy dr— 2
H- 10D| K09080104 M8 &F vk 2
H- 11 K22201202C R AT 4 1 HZ TD1219001 ~
H- 11A|  K09102000 M10 X 20 R)Lk 5
H- 11B| K09100300 M10 RFYLTIv v— 5
H- 11C| K09100200 M10 Ty v— 5
H- 12 K40513300A Fa—oI7(4 v — 1 760 X 860
H- 13 K31528200 FoRNIE—D AT 1
H- 13A| KO09051532 M5 x 15 FRIpRD 1
H- 13B| K09050200 M5 TS r— 2
H- 13C| K09050100 M5 Fuk 1
H- 13D| K09050300 M5 RFY T Iy d— 1
H- 14 K31566800 TOEILIDAY—1LHEE 1
H- 14A| KO09041532 M4 x 15 FRIpRD 1
H- 14B| K09040200 M4 Ty — 2
H- 14C| K09040100 M4 Fyk 1
H- 14D| K09040300 M4 ZFY T Iy d— 1
H- 14E| KO09040641 M4 x 6 A IFERILE 1
H- 15
H- 15A
H- 15B
H- 16 K21601603 Foiavbinn—%8 1 HFE TD1213006~
H- 16 K22311500A FToiavlbii—£8 1 & TD1218016~
H- 16A| K09081500 M8 x 15 7R JLk 1
H- 16B| K09080300 M8 R T I dr— 1
H- 16C| K09080202 M8 KJwiy— 1 8X26X26
H- 17 KOB1615DU Jwi 1 K5B1615 2

30

2020.08




@ HATSUTA

TD-1200 H o4 —Ri

o
m
@co
[C ]

D 1c'? ) sAL—1
@y\ 6 } L
[ =

\ . 218
¥, LeA o\l
8A ,
: N ))
D \g,a
-

4 2020.08



@) HATSUTA

TD-1200
REES a—F e HE R &%
H- 18 KOB1015DU Jwi a1 K5B1015 1 H42& TD1213006~
H- 19 | K22208600A Foiavayk 1
H- 19A| K09100200 M10 Ty v— 1
H- 19B| K09030520 BYEY $3%x20 1
H- 19C| K09100101 M10 b (%) 2
H- 19D| K09100100 M10 Fvk 1
H- 20 KO9PHS10R 240 yrI UK PHS-10 1
H- 20A| K09100100 M10 Fvk 1
H- 20B| K09100300 M10 RFY2 T Ty — 1
H- 20C| K09100200 M10 Ty v— 2
H- 20D| K09104000 M10 x 40 )L~ 1
H- 21 K31718200 FHtILLN— Assy 1
H- 21A| K09061200 M6 x 12 R JLF 2
H- 21B| K09060300 M6 RFY T Iy — 2
H- 21C| K09060200 M6 Ty r— 2
H-22 | K31516701A FoRILTA v — 1
H- 23 K22353600 LiN—451y7 1 & TD1218016~
H- 24 K21660500 BEY<—2 IR—F 5 TL—F% 1
H- 25 K22210400 IN—F T TL—FhfZT&E 1
H- 25A| K09082000 M8 x 20 A JLF 1
H- 25B| K09080300 M8 RFY T Iyrd— 1
H- 25C| K09080201 M8 KT r— 1 8X22%23
H- 26 K22353500 V=N 1 KN20
H- 26A| K09060200 M6 Ty — 1
H- 26B| K09060300 M6 RFY T Iy x— 1
H- 26C| K09060100 M6 Fwk 1

32

2020.08




@D HATSUTA

TD-1200 | R5)LEA R

7A 7| — ~
%F@ 17D ‘ //y /\/
170 17E [ - H -
porlaly 138 ‘3A/4A | \\ 248
17 6 o

‘
9/\ 1 m17B L W 21, 28 A o 24
% i -
Q/ b ) 28C 24
= b i

33 2020.08



@D HATSUTA

TD-1200
RHUES a—kK o HE R &%
-1 K21807100 REIJWRAys— 1
- 1A K09082000 M8 x 20 7RJLk 3
- 1B K09080300 M8 R T Iy v— 2
I-1C K09080200 M8 Ty r— 4
I- 1D K09080100 M8 Fubk 2
I- 1E K09086000 M8 x 60 AL+ 1
-2 K22202002 MER TS =D 1
I- 2A K09080890 M8 x 8 kAt 1
I- 2B K22250220 *—3/16%x3/16x 14 1
-3 K09BLO8DL A4OykI K BL-8D-L 1
I- 3A K09080100 M8 Fubk 1
I- 3B K09100300 M8 R T Iy v— 1
I- 4 K22201900 rS=FTyroauk (A) 1
I- 4A K09080101 M8 Fwb (E) 1
I- 4B K09080100 M8 Fubk 1
-5 KO9BLOSDR A40ykI UK BL-8D-R 1
I- 5A K09080104 M8 &F vk 1
I- 5B K09080300 M8 R T Iy v— 1
-6 K31523500 FORILRE JLHIN— 1
I- 6A K09061500 M6 x 15 7R JLk 2
I- 6B K09060300 M6 RFY T Iy e— 2
I- 6C K09060200 M6 Ty r— 2
-7 K31529900 HL7rO0T7ERfAEEXREY 1
I- 7A K09080100 M8 Fubk 2
I- 7B K09080300 M8 RFY T Iy v— 2
I- 7C K09080200 M8 Ty — 2
I- 7D K09080104 M8 &F vk 1
-8 K0B1020DU Jwia K5B1020 1
-9 K31564700 K74 KRV22XLL 1
I- 9A K09100100 M10 Fvk 1
I- 9B K09100300 M10 RFYLTIw v— 1
I- 9C K09100200 M10 Ty v— 2
- 10 K31529700 HLTFO7RAEE 1
I- 11 K31529800 R ARTITEIERILE 1
I- 11A| K09080100 M8 Fubk 2
I- 11B| K09080300 M8 R T Iy v— 1
I- 11C| K09080200 M8 Ty — 2
- 12 K31528301 =kvd=: A2 1
I- 12A| K09083000 M8 x 30 7RJLk 1
I- 12B| K09080201 M8 KT y— 2 8x22x23
I- 12C| K09080100 M8 Fubk 1
I- 12D| K09080200 M8 Ty — 1
- 13 KO9BLOSDR A40ykI UK BL-8D-R 1
I- 13A| K09080104 M8 &F vk 1
I- 13B| K09080300 M8 R T Iy w— 1
- 14 K22201800 r=F2yroauk (B) 1
I- 14A| K09080100 M8 Fubk 1
I- 14B| K09080101 M8 Fwb (E) 1
- 15 K09BLO8DL A4OykI K BL-8D-L 1
I- 15A|  K09080100 M8 Fubk 1
I- 15B| K09080300 M8 R T Iy v— 1
- 16 K0B1812DU TJwi 1 K5B1812 2
- 17 K22201701 [N dmby 55 (= o] 5 L M2 1
I- 17A| K09081600 M8 x 16 7RJLk 1
I- 17B| K09080300 M8 R T Iy d— 1
34 2020.08




@D HATSUTA

TD-1200 | R5)LEA R

7A 7| — ~
%F@ 17D ‘ //y /\/
170 17E [ - H -
porlaly 138 ‘3A/4A | \\ 248
17 6 o

‘
9/\ 1 m17B L W 21, 28 A o 24
% i -
Q/ b ) 28C 24
= b i

35 2020.08



@D HATSUTA

TD-1200

RHUES a—F e HE R &%
I-17C| K09080200 M8 Ty — 1
I-17D| K09105500 M10 x 55 )L+ 2
I-17E| K09100100 M10 7k 2
I-17F | K09100300 M10 RFY T Ty — 2
I- 17G| K09100200 M10 Ty v— 2
I-18 K40561901 B8 — 1 1% TD1219001~
I- 18A| K09083500 M8 x 35 Lk 1
I- 18B| K09080200 M8 Ty — 2
I- 18C| K09080300 M8 RFY T Iy d— 1
I- 18D| K09080100 M8 Fwk 1
- 19 K22212100 FoR—RftEY 2
I- 19A| K09080100 M8 Fwk 1
I- 19B| K09100300 M8 RFY T Iy — 1
I- 19C
I- 19D
I- 19E| K09060201 M6 Ty — 1 6Xx 16X 1
I- 19F | K09060103 M6 UFvbk 1
I- 20 K21805902 FTORILRS )L 1
I- 20A| K31508100 IESHRILE 1
I- 20B| K09100300 M10 R T Ty — 1
I- 20C| K09100200 M10 Ty v— 1
I-20D| K31560410 JYR=yFIL 1/8 90° 1
I- 21 KRB054003 3 LR 1 5% 40 X 30
- 22 K22209600L <~—h—# (&) 1
7 K22209600R <—h—#% (A) 1
- 23 K20207000 I—H—HERMAERARILE 2
I- 24 K22208400 I—h—3L 2
I- 24A|  K09062000 M6 x 20 AL+ 2
I- 24B| K09060200 M6 Ty r— 2
I- 24C| K09060300 M6 RFY T Iy r— 2
I- 24D| K09060100 M6 Fwk 2
I- 25 K20213400 X—h—RARTIY 2
I- 26 K31515200 TL—FREILH— 1
I- 26A| K09061200 M6 x 12 AL+ 2
I- 26B| K09060300 M6 RFY T Iy r— 2
I- 26C| K09060200 M6 Ty r— 2
I- 27 K31563600 RE )T L 1
I- 28 K31509502 TL—%RE )L 1
I- 28A| K31560400 JYR=yFIL 1/8-45° 1
I- 28B| K31508100 ESHRILE 1
I- 28C| K09100300 M10 R Ty — 1
I- 28D| K31504200 IR Tvr— 1
I- 29 K22210500A TyrITL—F T — 1
I- 29A| K31562000 HLEREY 1
- 29B| K21353600 RE> 1

36

2020.08




@D HATSUTA

TD-1200 J EC¥REA R

@
)

37 2020.08



@D HATSUTA

TD-1200
RHEES a—k e HeE & &%

J-1 K22209820 chft 4R 1

J-2 K21805124 INYT)—a—FK (=) 1 1150mm IUSUT—R~ YT — ()
J-3 K21805134 INYT)—a—FK (=) 1 500mm IUOUT—R~ T —Y
J-4 K21805104 INYT)—a—FK (+) 1 1350mm RB—B—~ YT — (+)
J-5 K31556700 INyT)—Z—3F)L () 1

J- 6 K31556600 INYTY)—B—3F)L (+) 1

J-7 K31556800 INYTV—B—ZF)LHA— (#) 1

J-8 K31556900 INYTV—B—ZF)LH/A— () 1

J-9 K22209800B WIRING-1 1

J-10 K31562799 F—XAYF Assy 1

J- 11 K21653001 T I A—A— 1

J-12 K22509700A T ) A—E—BftE 1

J- 13 K22510700A TR TIA—E—ER 1

38

2020.08




[O) ¥ Bkt

T555-0013 KRThFEE/IIXFFf1-5-58 B 06-6472-3857 FAX 06-6471-6336
T121-0836 EHEPEIXALR2-19-4-401 B 03-3897-8095 FAX 03-3897-8097



	表紙
	目次
	A フロント関係
	B 後輪関係
	C 油圧関係
	D エンジン関係
	E コンベアー関係
	F ホッパー関係
	G 駆動関係
	H ワイヤー関係
	I ペダル関係
	J 配線関係



